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Optimal Point of Departure
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Optimal Point of Departure
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FG in Carlstrom, Fuerst, and Paustian (2015)

Primitives

yt = −σ(it − πt+1 − i \t ) + yt+1 (1)

πt = κyt + βπt+1 (2)

i \t =

{
% < 0 if t ∈ {0, . . . ,T}
ρ > 0 otherwise.

(3)

it =

{
0 if t ∈ {0, . . . ,T}
φi \t + πt otherwise

(4)
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After the Liquidity Trap

0 = (1 + κσφ)πt − (1 + κσ + β)πt+1 + βπt+2

1 + κσφ > 0

κσ(φ− 1) > 0

πt = c1λ
−t
1 + c2λ

−t
2

πt = 0 always
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During the Liquidity Trap

yT = σ%,

πT = κyT = κσ%

yT−1 = yT − σ
(

0− πT − i \T−1

)
= yT + σ (%+ κσ%) < yT

πT−1 = κyT−1 + βπT < κyT + βπT < πT

κσ% = πt − (1 + κσ + β)πt+1 + βπt+2

Forward Guidance Discussion (Jeff Campbell) 6/17 Jeff.Campbell@chi.frb.org
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During the Liquidity Trap

κσ% = πt − (1 + κσ + β)πt+1 + βπt+2

πt = ι1πt+1 + κσ%
1− ιT+1−t

2

1− ι2
(ι1 > 1 > ι2)
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Forward Guidance

iT+1 = i \T+1 − ε
πT+1 = κσε

∂πt
∂πT+1

= ιT+1−t
1
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FG in Carlstrom, Fuerst, and Paustian (2015)
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The Standard Forward-Guidance Experiment
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HLM2’s Forward-Guidance Experiment
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HLM2’s Forward-Guidance Experiment
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Heterogeneity

I Two representative households, “Kapitalists” and “W orkers”

I Workers consume hand-to-mouth.

I Capitalists own firms and trade bonds in zero net supply.

Yt ≡ Y K
t + YW

t

Y K
t = (1− α)Yt

πt = κyt + βπt+1

ykt = − 1

σ

(
it − πt+1 − i \t

)
+ ykt+1

ykt = yt
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Unequal Sharing of Aggregate Risk

I Workers borrowed from Capitalists in the past in return for a
perpetual real payment τ .

Y K
t = (1− α)Yt + τ

ykt =
(1− α)Y?

(1− α)Y? + τ
yt

ykt = −σ
(
it − πt+1 − i \t

)
+ ykt+1

yt = −σ (1− α)Y? + τ

(1− α)Y?

(
it − πt+1 − i \t

)
+ yt+1
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Inflation Dependent Sharing of Aggregate Risk

I Workers make inflation-dependent payments to Capitalists.

Y K
t = (1− α)Yt + τ (Pt/Pt−1 − 1)

ykt = yt +
τ

(1− α)Y?
πt = yt + θπt

ykt = −σ
(
it − πt+1 − i \t

)
+ ykt+1

yt + θπt = −σ
(
it − πt+1 − i \t

)
+ yt+1 + θπt+1

−σ(it − i \t ) =
(
1 + κθ − (1 + κσ + β + κθ) L−1 + βL−2

)
πt

= f (L−1)πt

f (0) = 1 + κθ > 0

f (1) = −κσ < 0
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Euler-equation Discounting

yt = −σ
(
it − πt+1 − i \t

)
+ δyt

πt − βπt+1 = −σ
(
it − πt+1 − i \t

)
+ δ(πt+1 − βπt+2)

−σ
(
it − i \t

)
=

(
1− (δ + κσ + β)L−1 + δβL−2

)
πt

= f (L−1)πt

f (0) = 1 > 0

f (1) = (1− δ)(1− β)− κσ
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How did you flip the root?
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